

CONDITIONS IMPLYING NORMALITY AND HYPO-NORMALITY OF OPERATORS IN HILBERT SPACE

MOHAMMED MEZIANE¹, ABDELKADER BENALI^{2*}

Manuscript received: 17.08.2020; Accepted paper: 21.11.2020;

Published online: 30.12.2020.

Abstract. *The aim of this paper is to give sufficient conditions on two normal and hyponormal operators (bounded or not), defined on a Hilbert space, which make their algebraic sum hyponormal (only in bounded case). The results are accompanied by some interesting examples and counter examples.*

Keywords: *normal; hyponormal operators; Kaplansky theorem; bounded operators; unbounded operators.*

1. INTRODUCTION

Normal operators are a major class of bounded and unbounded operators. Among their virtues, they are the largest class of single operators for which the spectral theorem is proved [1, 2]. There are other classes of interesting non-normal operators, such as hyponormal and subnormal operators. They have been of interest to many mathematicians and have been extensively investigated, so that even monographs have been devoted to them [3, 4]. In this paper we are mainly interested in generalizing the following result to unbounded normal and bounded hyponormal operators: In this paper we are mainly interested in generalizing the following result to unbounded normal and bounded hyponormal operators:

Theorem 1.1. [5] *Let A and B be two bounded operators on a Hilbert space such that AB and A are normal. Then B commutes with AA^* iff BA is normal.*

Before recalling some essential background, we make the following convention: All operators are linear and are defined on a separable complex Hilbert space, which we will denote henceforth by H . A bounded operator A on H is said to be normal if $AA^* = A^*A$, and hyponormal if $AA^* \leq A^*A$, that is, $\|A^*x\| \leq \|Ax\|$ for all $x \in H$. Hence a normal operator is always hyponormal. Obviously, a hyponormal operator need not be normal. However, in a finite-dimensional setting, a hyponormal operator is normal. This is proved via a nice and simple trace argument [5]. An operator is said to be subnormal if it has a normal extension, and co-subnormal if its adjoint is subnormal. Another important class of non-normal operators is that of paranormal ones. We recall that an operator A is said to be paranormal if $\|A^2x\| \geq \|Ax\|^2$ for any unit vector x in H (it can easily be shown that hyponormality implies paranormality). Similarly, an operator A is called co-paranormal if its adjoint is paranormal. Since the paper is also concerned with unbounded operators, and for the reader's convenience, we recall some known notions and results about unbounded operators.

¹ The Higher School of Economics, 031000 Oran, Algeria. E-mail: m.meziane13@yahoo.fr.

² University of Hassiba Benbouali, Faculty of the Exact Sciences and Computer, Department of Mathematics, 02000 Chlef, Algeria. E-mail: Benali4848@gmail.com.

If A and B are two unbounded operators with domains $D(A)$ and $D(B)$ respectively, then B is said to be an extension of A (or A is a suboperator of B), and we write $A \subset B$, if $D(A) \subset D(B)$ and A and B coincide on each element of $D(A)$. An operator A is said to be densely defined if $D(A)$ is dense in H . The (Hilbert) adjoint of A is denoted by A^* and it is known to be unique if A is densely defined. An operator A is said to be closed if its graph is closed in $H \oplus H$. We say that an unbounded operator A is self-adjoint if $A = A^*$, and normal if A is closed and $AA^* = A^*A$.

An operator A is said to be formally normal if $D(A) \subset D(A^*)$ and $\|Ax\| = \|A^*x\|$ for all $x \in D(A)$. It is easy to see that a densely defined suboperator of a normal operator is formally normal. Recall also that the product BA is closed if for instance B is closed and A is bounded, and that if A , B and AB are densely defined, then only $B^*A^* \subset (AB)^*$ holds; and if further A is assumed to be bounded, then $B^*A^* = (AB)^*$. The notion of hyponormality extends naturally to unbounded operators. An unbounded A is called hyponormal if:

1. $D(A) \subset D(A^*)$
2. $\|A^*x\| \leq \|Ax\|$ for all $x \in D(A)$.

An operator A is said to be positive if $\langle Ax, x \rangle \geq 0$ for every $x \in D(A)$ and write $A \geq 0$.

Proposition 1.2 [2] *If A is a positive self-adjoint operator on $D(A)$, then there is unique positive self-adjoint operator B such that $B^2 = A$. The operator B is called the positive square root of A and denoted by $A^{1/2}$.*

If A is densely defined, we denote by $|A| = (A^*A)^{1/2}$. Any other result or notion (such as the classical Fuglede–Putnam theorem, polar decomposition, subnormality etc.) will be assumed to be known by readers. For more details, the interested reader is referred to [2, 6-9]. For other works related to products of normal (bounded and unbounded) operators, the reader may consult [10-15] and the references therein.

We do recall the celebrated Fuglede-Putnam Theorem though:

Theorem 1.3 [7] *Let $A \in B(H)$ and M, N are two normal non-necessarily bounded operators. Then*

$$AN \subset MA \implies AN^* \subset M^*A.$$

Now, let us recall results obtained by Devinatz-Nussbaum (and von Neumann)

Theorem 1.4. [15] *Let A, B and C be self-adjoint operators. Then*

$$A \subset BC \implies A = BC.$$

2. MAIN RESULTS

We note that the sum of two normal operators is not always normal as shown in

Example 2.1 *Consider for instance the matrices A and B defined as*

$$A = \begin{pmatrix} 1 & 1 \\ -1 & 1 \end{pmatrix}, B = \begin{pmatrix} -1 & 1 \\ 1 & 1 \end{pmatrix}.$$

Obviously A and B are both normal. However,

$$A + B = \begin{pmatrix} 0 & 2 \\ 0 & 2 \end{pmatrix} \text{ is not normal.}$$

The first result is quite elementary.

Proposition 2.2 *Let A and B be two normal operators. If A commutes with B^* , then $A + B$ is normal.*

Proof. We have

$$(A + B)^*(A + B) = (A^* + B^*)(A + B) = A^*A + A^*B + B^*A + B^*B \tag{1}$$

and

$$(A + B)(A + B)^* = AA^* + AB^* + BA^* + BB^*. \tag{2}$$

Since $AB^* = B^*A$, $BA^* = A^*B$. Combining these two equations with the normality of A and B yield the equality of Equations (1) and (2) and hence establishing the normality of $A + B$.

Example 2.3 *Let A and B be acting on the standard basis (e_n) of $\ell^2(\mathbb{N})$ by:*

$$Ae_n = \alpha_n e_n \text{ and } Be_n = e_{n+1}, \forall n \geq 1$$

respectively. Assume further that α_n is bounded, *real-valued* and *positive*, for all n . Hence A is self-adjoint (hence normal!) and positive. Then

$$ABe_n = \alpha_n e_{n+1}, \forall n \geq 1.$$

For convenience, let us carry out the calculations as infinite matrices. Then

$$AB = \begin{bmatrix} 0 & 0 & & & & & 0 \\ \alpha_1 & 0 & 0 & & & & \\ 0 & \alpha_2 & 0 & 0 & & & \\ & 0 & \alpha_3 & 0 & \ddots & & \\ & & 0 & \ddots & 0 & \ddots & \\ 0 & & & \ddots & \ddots & \ddots & \ddots \end{bmatrix} \text{ so that } (AB)^* = \begin{bmatrix} 0 & \alpha_1 & & & & & 0 \\ 0 & 0 & \alpha_2 & & & & \\ 0 & 0 & 0 & \alpha_3 & & & \\ & 0 & 0 & 0 & \ddots & & \\ & & 0 & \ddots & 0 & \ddots & \\ 0 & & & \ddots & \ddots & \ddots & \ddots \end{bmatrix}.$$

Hence

$$AB(AB)^* = \begin{bmatrix} 0 & 0 & & & & & 0 \\ 0 & \alpha_1^2 & 0 & & & & \\ 0 & 0 & \alpha_2^2 & 0 & & & \\ & 0 & 0 & \alpha_3^2 & \ddots & & \\ & & 0 & \ddots & \ddots & \ddots & \\ 0 & & & \ddots & \ddots & \ddots & \ddots \end{bmatrix}$$

and

$$(AB)^*AB = \begin{bmatrix} \alpha_1^2 & 0 & & & 0 \\ 0 & \alpha_2^2 & 0 & & \\ 0 & 0 & \alpha_3^2 & 0 & \\ & 0 & 0 & \ddots & \ddots \\ 0 & & 0 & \ddots & \ddots \end{bmatrix}.$$

It thus becomes clear that AB is hyponormal iff $\alpha_n \leq \alpha_{n+1}$.

Similarly,

$$BAe_n = \alpha_{n+1}e_{n+1}, \forall n \geq 1.$$

Whence the matrix representing BA is given by:

$$BA = \begin{bmatrix} 0 & 0 & & & 0 \\ \alpha_2 & 0 & 0 & & \\ 0 & \alpha_3 & 0 & 0 & \\ & 0 & \alpha_4 & 0 & \ddots \\ 0 & & 0 & \ddots & 0 \\ & & & \ddots & \ddots \end{bmatrix} \text{ so that } (BA)^* = \begin{bmatrix} 0 & \alpha_2 & & & 0 \\ 0 & 0 & \alpha_3 & & \\ 0 & 0 & 0 & \alpha_4 & \\ & 0 & 0 & 0 & \ddots \\ 0 & & 0 & \ddots & 0 \\ & & & \ddots & \ddots \end{bmatrix}.$$

Therefore,

$$BA(BA)^* = \begin{bmatrix} 0 & 0 & & & 0 \\ 0 & \alpha_2^2 & 0 & & \\ 0 & 0 & \alpha_3^2 & 0 & \\ & 0 & 0 & \alpha_4^2 & \ddots \\ 0 & & 0 & \ddots & \ddots \end{bmatrix}$$

and

$$(BA)^*BA = \begin{bmatrix} \alpha_2^2 & 0 & & & 0 \\ 0 & \alpha_3^2 & 0 & & \\ 0 & 0 & \alpha_4^2 & 0 & \\ & 0 & 0 & \ddots & \ddots \\ 0 & & 0 & \ddots & \ddots \end{bmatrix}.$$

Accordingly, BA is hyponormal iff $\alpha_n \leq \alpha_{n+1}$ (thankfully, this is the same condition for the hyponormality of AB).

The normality of unbounded products of normal operators has been studied recently. See e.g. [19] and the references therein. We recall

Theorem 2.4 ([17]) *Let A, B be normal operators with $B \in B(H)$. If $BA \subset AB$, then AB and \overline{BA} are both normal (and so $AB = \overline{BA}$).*

We start by this result on the normality.

Theorem 2.5 *Let A, B be normal operators with $B \in B(H)$. Assume that AB and A^*B^* are densely defined. If $B^*BA \subset AB^*B$ and $BA^*A \subset A^*AB$, then $AB, \overline{BA}, AB^*B, \overline{B^*BA}, A^*AB, \overline{BA^*A}, A^*B^*B, \overline{B^*BA^*}, A^*AB^*$ and $\overline{B^*A^*A}$ are normal (and so $AB^*B = \overline{B^*BA}, A^*AB = \overline{BA^*A}, A^*B^*B = \overline{B^*BA^*}$ and $A^*AB^* = \overline{B^*A^*A}$).*

Proof. We have

$$B^*BA \subset AB^*B \implies B^*BA^* \subset A^*B^*B$$

and

$$BA^*A \subset A^*AB \implies B^*A^*A \subset A^*AB^*.$$

AB is closed and

$$(AB)(AB)^* \supset ABB^*A^* = AB^*B \supset B^*BAA^*,$$

since $(AB)(AB)^*$ is self-adjoint and by the boundedness of B^*B , we get

$$(AB)(AB)^* \subset AA^*B^*B$$

and Theorem 1.4 yields

$$(AB)(AB)^* = AA^*B^*B.$$

Similarly, we have

$$(AB)^*(AB) = AA^*B^*B,$$

hence AB is normal.

Next we establish the normality of \overline{BA} . First of all, \overline{BA} exists because A^*B^* is densely defined. Indeed

$$\overline{BA}(\overline{BA})^* \supset BAA^*B^* = BA^*AB^* \supset B^*BAA^*,$$

since $\overline{BA}(\overline{BA})^*$ is self-adjoint and by the boundedness of B^*B , we get

$$\overline{BA}(\overline{BA})^* \subset AA^*B^*B,$$

by Theorem 1.4, we obtain

$$\overline{BA}(\overline{BA})^* = AA^*B^*B,$$

Similarly, we obtain

$$\overline{BA}(\overline{BA})^* = (\overline{BA})^*\overline{BA} = AA^*B^*B,$$

and this marks the end of the proof of the normality of \overline{BA} .

Since AA^* and B^*B are self-adjoint (hence normal!) and A^*, B^* are also normal, Theorem Fuglede-Putnam and Theorem 2.4 gives the rest of the desired result.

Corollary 2.6 *Let A, B be normal operators with $B \in B(H)$. Assume that AB and A^*B^* are densely defined. If $|B|A \subset A|B|$ and $B|A| \subset |A|B$, then $AB, \overline{BA}, A|B|, \overline{|B|A}, |A|B, \overline{|B|A}, A^*|B|, \overline{|B|A^*}, |A|B^*, \overline{B^*|A|}, AB^*B, \overline{B^*BA}, A^*AB, \overline{BA^*A}, A^*B^*B, \overline{B^*BA^*}, A^*AB^*$ and $\overline{B^*A^*A}$ are normal (and so $A|B| = \overline{|B|A}, |A|B = \overline{|B|A}, A^*|B| = \overline{|B|A^*}, |A|B^* = \overline{B^*|A|}, AB^*B = \overline{B^*BA}, A^*AB = \overline{BA^*A}, A^*B^*B = \overline{B^*BA^*}$ and $A^*AB^* = \overline{B^*A^*A}$).*

Proof. By hypothesis, we have

$$|B|A \subset A|B| \implies |B|^2A \subset A|B|^2 \implies B^*BA \subset AB^*B$$

and

$$B|A| \subset |A|B \Rightarrow BA^*A \subset A^*AB,$$

hence by the Theorem 2.5, we obtain the normality of AB and \overline{BA} . Since $|A|$ and $|B|$ are self-adjoint (hence normal!) and A^* , B^* are also normal, Theorem Fuglede-Putnam and Theorem 2.4 gives the rest of the desired result.

Corollary 2.7 *Let A, B be normal operators with $A, B \in B(H)$. If $B^*BA = AB^*B$ and $BA^*A = A^*AB$, then AB , BA , AB^*B and A^*B^*B are normal (so BA^*A and B^*A^*A are normal).*

Proof. The proof of the Corollary 2.7 uses Theorem 2.5 (replacing extension by equality).

The following result generalizes the Theorem 3 ([16]). The proof requires the following Lemma:

Lemma 2.8 ([10]) *Let A, B be bounded and positive operators. If $AB = BA$, then AB is positive.*

Theorem 2.9 *Let A, B be bounded and hyponormal operators. Assume further that $AB^*B = B^*BA$ and $BAA^* = AA^*B$. Then:*

- 1) AB is hyponormal.
- 2) BB^*AA^* , B^*BAA^* , AA^*B^*B and A^*AB^*B are self-adjoints.
- 3) $BB^*AA^* \leq B^*BAA^*$ and $AA^*B^*B \leq A^*AB^*B$.
- 4) BA is hyponormal.

Proof.

- 1) By hypothesis, We have

$$AB^*B = B^*BA \Rightarrow A^*B^*B = B^*BA^*, \quad (1)$$

and

$$BAA^* = AA^*B \Rightarrow B^*AA^* = AA^*B^*. \quad (2)$$

Hence

$$\begin{aligned} (AB)(AB)^* &= ABB^*A^* \\ &\leq AB^*BA^* \quad (\text{because } B \text{ is hyponormal}) \\ &= B^*BAA^* \\ &= B^*AA^*B \\ &\leq B^*A^*AB \quad (\text{because } A \text{ is hyponormal}) \\ &= (AB)^*AB, \end{aligned}$$

i.e. AB is hyponormal.

- 2) Also by hypothesis (1) and (2), we obtain:

$$(BB^*AA^*)^* = AA^*BB^* = BAA^*B^* = BB^*AA^*,$$

i.e. BB^*AA^* is self-adjoint.

Similarly, we obtain the self-adjontness of B^*BAA^* , AA^*B^*B and A^*AB^*B .

3) We have

$$\begin{aligned} (BB^*AA^* - B^*BAA^*)^* &= BB^*AA^* - B^*BAA^* = (BB^* - B^*B)AA^* \\ &= AA^*(BB^* - B^*B). \end{aligned}$$

Since B is hyponormal and AA^* is positive, Lemma 2.8 yields

$$(BB^* - B^*B)AA^* \leq 0,$$

i.e.

$$BB^*AA^* \leq B^*BAA^*.$$

Similarly,

$$AA^*B^*B \leq A^*AB^*B.$$

4) As above, we get

$$\begin{aligned} (BA)(BA)^* &= BAA^*B^* \\ &= BB^*AA^* \\ &\leq B^*BAA^* \\ &= AB^*BA^* \\ &= AA^*B^*B \\ &\leq A^*AB^*B \\ &= A^*B^*BA \\ &= (BA)^*BA. \end{aligned}$$

I.e. BA is hyponormal, as needed.

Corollary 2.10 *Let A and B be bounded and hyponormal operators, suppose A commutes with $|B|$ and B commutes with $|A^*|$, then AB and BA are hyponormal.*

Proof. Clearly

$$A|B| = |B|A \implies AB^*B = B^*BA$$

and

$$B|A^*| = |A^*|B \implies BAA^* = AA^*B,$$

by Theorem 2.9, we obtain the hypernormality of AB and BA .

Remark 2.11 *If an operator T defined on the space produced by hyponormal operators does not imply that T is hyponormal. Here is an example:*

Example 2.12 *Let A, B be bounded operators and hyponormal in Hilbert space H . Let S, T two operators defined on $H \oplus H$ by*

$$S(x, y) = (Ax, By) \quad \text{and} \quad T(x, y) = (Ay, Bx).$$

We will see that S is hyponormal but T is not hyponormal. Consider the following matrix blocks:

$$\tilde{S} = \begin{pmatrix} A & 0 \\ 0 & B \end{pmatrix} \quad \text{and} \quad \tilde{T} = \begin{pmatrix} 0 & A \\ B & 0 \end{pmatrix}$$

We can prove that \tilde{S}^* and \tilde{T}^* are defined by

$$\tilde{S}^* = \begin{pmatrix} A^* & 0 \\ 0 & B^* \end{pmatrix} \quad \text{and} \quad \tilde{T}^* = \begin{pmatrix} 0 & B^* \\ A^* & 0 \end{pmatrix}$$

hence

$$\tilde{S}\tilde{S}^* - \tilde{S}^*\tilde{S} = \begin{pmatrix} AA^* - A^*A & 0 \\ 0 & BB^* - B^*B \end{pmatrix}$$

and

$$\tilde{T}\tilde{T}^* - \tilde{T}^*\tilde{T} = \begin{pmatrix} AA^* - B^*B & 0 \\ 0 & BB^* - A^*A \end{pmatrix}$$

It is obvious that \tilde{S} is hyponormal but \tilde{T} becomes hyponormal if $AA^* - B^*B \leq 0$ and $BB^* - A^*A \leq 0$.

Theorem 2.13 *Let A, B be two operators such that $B \in B(H)$ is hyponormal and A is normal. If $|B|A \subset A|B|$ and $B|A^*| \subset |A^*|B$, then BA is hyponormal.*

Proof. Recall that for any bounded operator or normal operator T defined on $\in D(T)$, we have:

$$\|Tx\| = \|(T^*T)^{1/2}x\| = \| |T|x \|, \quad x \in D(T).$$

Since $D(B) = H$ and $D(A^*) = D(A)$, it follows that

$$\begin{aligned} D(BA)^* &= D(A^*B^*) = \{x \in D(B^*): B^*x \in D(A^*)\} \\ &= \{x \in D(B^*): B^*x \in D(A)\} \\ &= D(B^*A) \\ &= D(A) \\ &= D(BA). \end{aligned}$$

Let $x \in D(BA)$, therefore

$$\begin{aligned} \|(BA)^*x\| &= \|A^*B^*x\| \\ &= \| |A^*|B^*x \| \\ &= \| B^*|A^*|x \| \\ &\leq \| B |A^*|x \| \quad (\text{because } B \text{ is hyponormal}) \\ &= \| |B||A^*|x \| \\ &= \| |A^*||B|x \| \quad (\text{because } |A^*| \text{ and } |B| \text{ commutes}) \\ &= \| A^*|B|x \| \\ &= \| A |B|x \| \quad (\text{because } A \text{ is normal}) \\ &= \| |B|Ax \| \\ &= \| BAx \|. \end{aligned}$$

Hence BA is hyponormal.
Finishing the proof.

Proposition 2.14 *Let A, B be non necessarily bounded operators such that B is hyponormal and A is self-adjoint with $A \in B(H)$. Assume further that $AB \subset BA$. Then AB is hyponormal.*

Proof. Since $D(B^*) \supset D(B)$, we obtain

$$\begin{aligned} D(AB)^* &= D(B^*A) = \{x \in D(A) : Ax \in D(B^*)\} \\ &\supset \{x \in D(A) : Ax \in D(B)\} \\ &= D(BA) \\ &\supset D(AB). \end{aligned}$$

Let $x \in D(AB)$, we have

$$\begin{aligned} \|(AB)^*x\| &= \|B^*Ax\| \\ &\leq \|BAx\| \end{aligned}$$

Since $BA = AB$ on $D(AB)$, then

$$\|(AB)^*x\| \leq \|ABx\|,$$

i.e. AB is hyponormal.

Proposition 2.15 *Let A, B be non necessarily bounded operators such that B is hyponormal and $A \in B(H)$. If $AB \subset BA^*$, then AB is hyponormal.*

Proof. Since $D(B^*) \supset D(B)$, we get

$$\begin{aligned} (AB)^* &= D(B^*A^*) \\ &= \{x \in D(A^*) : A^*x \in D(B^*)\} \\ &\supset \{x \in D(A^*) : A^*x \in D(B)\} \\ &= D(BA^*) \\ &\supset D(AB). \end{aligned}$$

Now, let $x \in D(AB)$, we have

$$\begin{aligned} \|(AB)^*x\| &= \|B^*A^*x\| \\ &\leq \|BA^*x\|. \end{aligned}$$

Since $BA^* = AB$ on $D(AB)$, we obtain

$$\|(AB)^*x\| \leq \|ABx\|,$$

proving the hypernormality of AB .

3. CONCLUSION

With an eye toward questions about products of normal and hypo-normal operators, these results are naturally tied to questions about operator product adjoints of AB and the closure of AB in the case of normality.

Then for conditions for operator products AB and BA to normal or hypo-normal, commutativity of operators is unavoidable. We established both sufficient conditions. In the bounded case, we lightened the sufficient conditions of the commutativity of operators with $|B|$ and $|A^*|$ to have the hypo-normality of AB and BA , i.e. we just used the commutativity of operators with $|B|^2$ and $|A^*|^2$.

REFERENCES

- [1] Benali, A, Mortad, M.H, *Bulletin of the Polish Academy of Sciences Mathematics*, **62**(2), 181, 2014.
- [2] Schmüdgen, K., *Unbounded Self-Adjoint Operators on Hilbert Space*, Springer, Netherlands, 2012.
- [3] Conway J.B., *The Theory of Subnormal Operators*, Mathematical Surveys and Monographs, USA, 1991.
- [4] Martin, M., Putinar, M., *Lectures on Hyponormal Operators*, Birkhäuser Basel, Switzerland, 1989.
- [5] Kaplansky, I., *Duke Math. J.*, **20**, 267, 1953.
- [6] Halmos, P.R., *A Hilbert Space Problem Book*, 2nd ed., Springer, Netherlands, 1982.
- [7] Berberian, S.K., *Introduction to Hilbert Space*, reprint of the 1961 original, Chelsea, New York, 1976.
- [8] Conway, J.B., *A Course in Functional Analysis*, 2nd ed., Springer, Netherlands, 1990.
- [9] Gohberg, I., Goldberg, S., Kaashoek, M.A., *Basic Classes of Linear Operators*, Birkhäuser Basel, Switzerland, 2003.
- [10] Rudin, W., *Functional Analysis*, 2nd ed., McGraw-Hill, USA, 1991.
- [11] Gheondea, A.A., *Bull. Math. Soc. Sci. Math. Roumanie*, **52**(100), 129, 2009.
- [12] Kittaneh, A.F., *Linear and Multilinear Algebra*, **30**(1-2), 1, 1991.
- [13] Mortad, M.H., *Demonstratio Math.*, **45**, 161, 2012.
- [14] Mortad, M.H., *Operators and Matrices*, **8**(2), 563, 2014.
- [15] Patel, A.B., Ramanujan, P.B., *Indian J. Pure Appl. Math.*, **12**(10), 1213, 1981.
- [16] Devinatz, A., Nussbaum, A.E., von Neumann, J., *Ann. of Math.*, **62**(2), 199, 1955.
- [17] Meziane, M., Mortad, M.H., Maximality of linear operators, *Rend. Circ. Mat. Palermo*, **68**(3), 441, 2019.